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1. Make a table of refractive index, n at the wavelength of
sodium D-lines (5893 A) and low frequency dielectric( <
1Khz ) constant Ky for Water, air , fused silica, Plexiglass
(Lucite), and Diamond.

Is the relationship between dielectric constant and refractive

index for a nonmagnetic dielectric satisfied in each case? Why

do the differences arise?  n- (i,

. 2. Prove the following: a) Curl of E=1ikxE
b) Divergence of E=ik.E where E=E,¢*"®"
3. Problem 1.11
4. Problem 2.3

5.a) Problem 2.4 b) 2.5
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